· Clearly show all your steps for each problem. If there is no solution, state NO SOLUTION.

	1.
	Solve by substitution [image: image1.png](x
{h*y





	2.
	Solve by substitution [image: image2.png]2a +3b






	3.
	Solve by elimination [image: image3.png]x—4y=4
+3y=-3





	4.
	Solve by elimination [image: image4.png]{731 +2y=10
4x—Ty=4





	5.
	Solve [image: image5.png]x—3y+éz
{ Sx+y-z=4
—2x+ 2y +3z






	6.
	Solve [image: image6.png]




	7.
	How many ml each of a 15% acetic acid solution and a 30% acetic acid solution must be mixed to obtain 600ml of a 22% acetic acid solution?


